GBESIGHENE

BCS/BAD/BAI/BDS301

s | | LTI TTT]
Third Semester B.E./B. Tech. Degree Exumi&i?i% Dec.2024/Jan.2025

b.

b.

a

b.

throws, ik

Mathematics - 11l for Compu}ir

cience Stream

the ball to B. B,always throw the ball to A and C is just as likely to throw
the ball to A as to B. Find the probability that C has the ball after three
starts the game.

¢ lof3

Time: 3 hes, % Max. Marks: 100
Note: 1. Answer any FIVE full questions, chodSing ONE full question fromy %Il module.
’ VTU Mathematics Hand Book is p m(s p?l
3. M Marks, L: Bloom's level, C: ( olrse outcomes.
| ﬁ:?( 1 M L[ C
A random variable x has the (¢ ng pmb d(.nslly lunk.& or various | 07 | COl
values of'x. | q .
S N N R A S S
Px) | 0 K hw 2K 2k | 3k | A% 267 | 7Kk
Find the value of k un(' Maluate P(x < 0), P(3 < )) and (x 2 0).
Derive the mean @rizmcc ol Poisson dis frb#;li(m. 06 CcO2
p) 4§$ —
In a certain t@ the duration of a shower 1 c.xp(mc.nlmlly distributed with | 07 CcO2
mean S n |§@§] What is the pmlmlnl ty that a shower will last for?
(1) lesg than”10 minutes (i) mog m 10 minutes and {(itr) between 10
.mwnmﬁwwm.uwm“ - A—
, ()R i l\Q
.| The pmbublllly dumly fun l‘fgap of @ 07 Col
K -3< xé»
f(x) = o
0, clsewhere 4
Find the valuc of K&ihg cvaluate (i) P(x l’(x >1) l’ | S xs.2) |
When a coin is ed 4 times, find A rolmhnllly of Bc 7 (i) exactly | 06 CO2
‘one head (i) m}ulsl three heads andy(ihi) lIess than two heads.
The mnrl\s 1000 students in a nmnalmn follow, ormal distribution | 07 CcO2
with mea and S.D 5. Fi m 4} imber of slu@%?;whosu marks will be
(1) less l‘ﬁn ()5 (11) more thy ind (iii) huwcu’ and 75.
B — . ; e n— N
a 4@ ¢ joint prolmhililmnll)ullon of x und 1§ given by 07 CcO2
q&wml4my) x=0,1,2,3y%0, 1,2
Find (1) I’(%A y= ANl (x > y)
TFind the unlquc. | |xcd probxiw veetorof el 12]coz
P=(1/6 1/2 143
|0 2/ /1
Three boys A, B i C arc thmwmg a ball to cach other. A ul'wuy& throw | 07 CcO3




£ 9

OR

Q.4

The joint prob. distribution for the following data, find E{()%%ﬂg
Y[ 2] 1] 475 ¥
X

1 0.1 | 02 | 00 | 03 &\ °
2 02 [ 0.1 | 0.1 0 ﬁlﬁ

07

L2

BCS/BAD/BAI/BDS3; |
\

Show that the matrix ’%)v @
0 0 1 % Aoy,
P=11/2 0 1/2| isaregula @astic matrix. ¢

0 1 0 miﬁ m{{;‘y

Q.5

06

L2

CO3

A gambler’s luck follows pzflt\ttii'h}’?’*“vlf~ he wins a game the prob. of winning
the next game is 0.6. Howevgx,g" he loses a game, the prob. of losing the
next game is 0.7. There is'3n even chance of the gam’ﬁlc’:r winning the first

game. What is the prob.@@he winning the second,gg};e.
V.4 ’

07

L3 | CO3

v

ﬁ:: \ Module -3 ¢

Define (i) Null hgpﬁihesis (i) A statistic &@WStandard error  (iv) Level
of significancé\ {v) Test of significance. =)

07[ L1 ’Coq

A coin way “tosSed 400 times and head turned up 216 times. Test the
hypothes*é that the coin is unbiased géﬁ% LOS.

A

06' L3 [ Coﬂ

In a cify®A420% of a random sampJ&of 900 school boys hg%Lcertain slight

physical defect. In another city ?3% 18.5% of a ra.q{b%iample of 1600
etwet

07

L3

COS5 |

school boys had the same de: of. Is the difference betwegn the propo ’/(:9;15
significant at 5% signiﬁcagég gvel? ﬁ%, ‘é
Ay OR o DL i

Q.6

Explain the following terms:

7
(1) Type-I afd,I'ype-II errors . 5 v
(1) Stati.gg%@l hypothesis %’@

(i)  Critical tegion N "
= U d . L)
(iv)  Alternate hypothesis o &

07

L1

CO4

S.D6 m‘éﬁg . Could this have e%ﬁ a random sample*from a population with
averagermarks 507 ¢

The average miarks in Engg%ﬂ@ﬁ sample of %%st?ﬁdents was 51 with
€

06

L2

COs5

Ogfértype of aircraft is fo‘h%ﬁo develop ;@muble in 5 flights out of a
total of 100 and anottg;rftype in 7 flightsxglit of a total of 200 flights. Is
iﬂt?ére a significancg™difference in the two,types of aircrafts so far as engine
defects are concerned? Test at 0.05 significance level.

07

L3

CO4

<\ Modulé — 4

Q.7

State centralyJiit theorem. Use the theorem to evaluate P(50 < x < 56)

where x represents the mgan 4f a random sample of size 100 from an
infinite population with meq (Y= 53 and variance o~ = 400.

07

L2

CO4

Suppose that 10, 12, 16%19"is a sample taken from a normal pppulation
with variance 6.25. Find»95% confidence interval for the population mean.

Given that Z(0.15)£4,0596.

06

L2

COs

Fit a Poisson disj&ﬁut’ion to the following data and test for goodness of fit
at 5% LOS.

07

L3

CO5

x4 0 1 2 3 4
|| 83 Y419 | 352 154 56 19
Sy,

&
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NG

OR ﬂﬁé?

Height of a random sample of 50 college student‘s‘}Té:\?Ted a mean of
174.5 cms and a S.D 6.9 cms. Construct 99% confidence limits for the
mean height of all college students. A\ e

07

L2

CO4

b.

A random sample of 10 boys had the following(PQ.:*70, 120, 110, 101, 88,
83, 95, 98, 107, 100. DO these data supp the assumption of a

06

L3

CO5

population mean 1.Q of 100 (at 5% LOS)?_ (%, A

The theory predicts the propositions of beans in the four groups, %@
Gs, G4 should be in the ratio 9:3 :3.:.1. In experiment with 1600 beans

07

L3

CO5

the numbers in the groups werex882, 313, 287 and 118 Does the
experimental support the theory. (\?} X
~Module — 5 ‘

The varieties of wheat A, B,, &#were shown in four plets each and the
following yields in quintal®per acre were obtained.
A 8 71 6 7
| B A 46 5 3
Tc |\ 5 | 4 [ 447
Test the signific of difference betwee\th¥ yields of varieties, given
that 5% tabufa value of F = 4.26 with (2, 9) d.f. Set up one-way
ANOVA ing direct method. ¢

10

L3

CO6

Present géu onclusion after doin@@VA to the follow'n%results of the

Latin-¢quare design conducted in ect of five fertilizers,Which were used
on plots of different fertility.

A(16) B(10) £(11) D) E@\Q

E(10)  C(9) éﬁzm) B(12) 131;%;)

B(15)  D(8) E@8)  C(10)m A(I8)

D(12)  E(6), B(13)  A( (12) ¢
C(13) ‘ﬁ@) D(10) E% B(14) §

10

L3

CO6

Ry O[R}—y.

Q.10

Set up twoyway ANOVA table for tHe data given %llc;w, using coding
mcthocﬁ@tting 40 from th 3} numbers. é
ﬁ‘ces of land ;\g’%ﬁ%nt

P D 4

ég P 4‘%5:%}0 38 37@
Q 49141 |45 | 38
05

R 39 141 |41

10

L3

CO6

There are threé;’;‘mgin brands of 3§I in power. A set of its 120 sales is
examined a dnd to be allocatéd among four groups (A, B, C, D) and
brands (I, II, [T1) as follows: 4 ’

Brands Gro@’g

ATB{B[D
I 04,/ 8115
1| 54813]6

m & T19[11]13
Is there any sigrificant difference in brands preference? Answer at 5%

from all values.

10

L3

CO6

* ¥ % % *

level, uzégﬁlé-way ANOVA. Take 10 as the code value to subtract it
g

4

é 3563
A
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Max. Marks: 100
Note: 1. Answer any FIVE Jull questions, ch(m}%’ONE Jull question f”’"‘-&fgf" module.

2. M : Marks, L: Bloom's level , C: % outcomes.

Moddle® | 9 M| L | C
Q.1 | a. | Determine the complement of the following function: 06 | L3 | COl
() F=xy'+ x'y (i) F= X'Ay@} 'y'z A&
b. | Describe map method for thret Variables. S 04 | L2 | COI
¢ | Apply K map technique to simplify the following function? 10 | L3 | COl
() F(x,y, 2) = %(0, 2, 423, By @
(i) F(x,y,z)=x'y+ %’z'
é‘é OR L
Q.2 | a. | Apply K map techniqtie to simplify the functj hy; 06 | L3 | COIl
F(w, X, y, z) =Z@ %, 7,11, 15) and d(wg, z) = 2(0, 2, 5)
b. | Determine ‘ﬂ@c prime implicants for the Boolean function F and also | 10 L3 | COl1
determing'Which are essential F(w, x4, 2) =%(0, 2, 4, 5,6, 7, 8, 10, 13, 15)
c. Dcvelo%vcnlog gate-level dcscr&?&)ﬁ'of tllc <-:.|rcu|t sho@Flg.QZ(c). 04 | L3 | COIl
5 &
2
\ § 4
)
. @ @
P 4 Eig.Q2(c) Pa
_Mddule - 2 Y
Q3 |a. Explain@combinmional ci@bﬁesign procedmh code conversion | 10 | L2 | CO2
example. | L ?
b.|D é; a full adder circdity Also develop d f§§ﬂow verilog model for full | 10 | L3 | CO2
iacr. 'S & A
g; Ny OR
Q.4 | a. | Describe 4 x 1 with block di %;':1131 and truth table. Also develop a | 10| L2 [ CO2
behavioral mod¢hyerilog code for Qi UX.
b. | What are st elements? Expldin the working of SR and D latch along | 10 | L2 | CO2
with logic diagram and function table.
<Ny Module - 3
Q.5 | a. | Explain the basic operatiqn@*concepts between the processor and memory. | 10 | L2 | CO3
b. | Describe the following: , 10 | L2 | CO3
(i) Processor cl(::f%
(i1) Basic perfor dnce equation
(111) Clock rate
(iv) SPEC rating
OR
Q.6 | a. | Define A_@?cssing mode. Explain any four types of addressing mode with [ 10 | L2 | CO3

examplg.

1 of 2
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1

W\E;D"
Mention four types of operations to be performed by instriictions in a | 10 | L2 | CO3
computer. Explain the basic types of instruction formats (5 c%‘rry out.
C «[A] +[B] >
Module — 4 a®’’

Q.7 With a neat diagram, explain the concept of accessinggl/O devices. 10| L2 | CO4
What is bus arbitration? Explain centrahzed 'md distributed arbllratlon 10| L2 | CO4
method with a neat diagram. &31 )

OR =, 7 A w

Q.8 With neat sketches, explain various methods for handling fnultiple | 10 | L2 | CO4
mterrupts requests raised by multlple évi Vices. v
What is cache memory? Explaid : %ly two mapping funct \r n, of cache | 10 | L2 | CO4
memory. R

(Mgdulc 5 -

Q.9 Draw the single bus arohlte’cl'ﬁre and write the control sequence for | 10 | L3 | COS
execution of instruction, ADI) (R3), Ry. Ay
With suitable diagram, eXplam the concept of regiSter ‘transfer and fetching | 10 | L2 | CO5
of word from memogia’ _?

A OR A&,

Q.10 With a neat diagram explain the flow of 4:8tage pipeline operation. 10| L2 | COS

Explain the rb\i;pf cache memory and plpelfﬁe performance. 10 | L2 | COS

& 20f2
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Time: 3 hrs. @ Max. Marks: 100

L]
Note: 1. Answer any FIVE full questions, chodsing ‘ONE full question from@ach module.
2. M : Marks, L: Bloom’s level , C: C. ("‘Il’zg outcomes. ‘i%”
1 Ay

, Module=1 ¢ M| L C
Q.1 | a. | Define Operating System. Expluin%}"ﬁmdc of operating s /sfé‘p‘ns witha | 06 | L1 | COl
ncat diagram. Ié L2
b. | Distinguish between the followidg terms: ’ 06 | L2 | COIl
1) Multiprogramming and*t%{ﬁlitasking »
i1) Multiprocessor and stered system
c. | Explain with a ncat %gfﬂm VM-WARE Architecture. 08 | L1 | COl
L2

&A‘;\? OR ™

Q.2 | a. | List and explainy the services provided 13_\7"&)3 for the user and efficient | 06 | L2 | COl

06 | L2 | COl1

opcratiox}< system. [&.
g ’

b. | Explaifithg different computing c‘ggl;plﬂcnts.

calls. L2

c. | What are systems calls? Lisp\axfd explain the dif@sptA es of iﬁ 08| L1 | CO1

4" Module-2 ¢,%

with a neat diagra . L2

Q.3 | a. | What is process? Explain process state dizzgis}ﬂ%nd process contrgl block | 10 | L1 | CO2
. &

b. | What is interprotess communic{@i7 Explain direcsf and indirect | 10 | L1 | CO2

communicationwith respect to messa passing syste ’;y L2
~° . [70R
Q.4 |a. | List and explain the diﬁ‘e}c%types of multitlg%iﬁlg models. 06| L1 | CO2
L2

b. lculate the averagﬁ}@aiting time an@\/erage turnaround timg by |14 | L3 | CO2
wing the Gant ha;- using FCFS, SJF, RR (Q = 4ms) and priority
gl mber is having¢highest priority).

scheduling (Higher, rio
Process | B. (x%s) Priority
% 4 1

P,
P, ~|? 03 2
PLY 03 3
’ Module — 3 -
Q.5 | a. | What is critical sec iﬁg‘? Give the Peterson’s solution to 2 processes critical | 05 [LJ; CO3
section problem.,% ‘ .
b. | Explain Reader’s a@hd Writer’s problem in detail. 07| L2 | CO3
c. | What is 4ctmaphore? Discuss the solution to the classical dinning | 08 [[:; CO3
philosophet*problem.

&£

&
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§ Q.6

ia.

| What 1 l\ a Deadlock? What are the necessary conditions qu fm&udlml\ 10
A%

occur? ;
o VY

b.

Consider the t‘ollmving snap shot of the system, &

. . LI 4
Process | Allocation Max .‘\\'mlu%ﬁ

ABC ABC A BN
Po [0 1 0 7-5 3 x}‘»

P, 0 0 3 2
P, 0 2 9 0
P 1 1 2

Py

/)
L 4 3 R~ ’
Answer the tollowing questions: i &

lJlJl»J.d
@ '
&

o Wi

1) What is the content of the e xneed?
1) [s the system on a safe \th f'xo find safe sequence.
) If Py requirements ton'(JQr 2) additional rumncg\ym P be granted.

2> Module -4

Q.7

a.

What is paging? F\ﬁ@( with a neat dmgmm agifig hardware with TLB.
R

Explain the fifefent strategies used to aeﬁ‘t a free hole from available
holes. A 2

06

14

What is Fﬁiﬁ‘x:ny__? nentation? List and c&ﬁg its types. &

1.2

BCS303

1.1
1.2
1.3

“OR o M

cOd

CcO2

[co4
CO4

| co4

Q.8

What is page fault? With %Q‘uf diagram cxpld&(ﬁp‘ﬁn handling &%

fault.

08

CO4

Consider the page rgtcroﬁ&trmg for a memer{ avith 3 frames defrmine

the number of pag_,u taplts using FIFO, @ tum l dnd LRU replacement
algorithms. Which g; ithms is more cffigicnt? ‘g

7012 0473037l§0l70l

12

CO4

Modile,~ 5

Q.9

Define File. Lisf and explain dlf%; nt filc operations a(i%hh. attributes.

10

L1

CO5

¢
4

10

1.2

CO5

Explamﬁﬁﬁffcrcnt file all c‘l&iﬁvmcthods ey
& ‘ § OR <N

Q.10

&X&Latyis Access Matrh@(ﬁluin the impl@tation of Access Matrix.

10

CO5

A drive has 5000 Sylinders numbcte@%O to 4999. The drive is currently

servicing at a@lcqt 143 and ; sly served a uqucst at 125. The

queue ofpcrﬂigg request in FIF er.
86, 14707 913, 1774, 948 1509, 1022, 1750, 130

starting from current head¢p sition. What is the total distance travelled
(in cylinders) by a disk satisfy the request using
FCFS, SSTF, SCAN, [’O K and C-Look algorithm

10

CO5

A,
Ny
S * ok kK Xk

2 0f2
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Data Structures and Applucatlons

BCS304

Max. Marks:

Note: 1. Answer any FIVE full questions, leosmg ()NF Jull question from each module.

s Dee.2024/Jan.2025

100

I R B AT SR Sl 3 15

2. M : Marks , L: Bloom’s level , C: Cours'e outcomes ,"“g.,,
. 4 NY
Module = I Aoy, ™ M|L| C
Q.1 |a. | Define Data Structures. Explain the. c]assﬁ'catlon of data structures witha | 8 | L2 | COI
neat diagram. ( 1}, ,»p
I \;\ ,;" , i
b. | Write a C Functions to lmplement pop , push and dnsplayeg)pcratlons for| 7 | L2 | CO2
stacks using assays. 9 iw ’
& ¢ .(\
c. | Differentiate structures,and-unions. A Y 5| L2 | COl
L ,a.?(‘%‘\
s & OR -
Q.2 | a. | Write an algonthm\lo evaluate a postfix expression and apply the same for | 7 | L3 | CO2
the given postfix expressmn &%";f
62/3 -4 % :
AN o)
b. Explaiﬁ:thé"“'c'fynamic memory allocatior function in detail. 8 | L2 | COl
‘? Y o N N S
c. | Whatuis Sparse matrix? Give theltriplet form of a glvemmatrlx and find its | 5 | L3 | COl
transpose ~ @ A4
00304 ’ {‘}i} % ﬁé”
00570 é" ﬁj =
Al . ) ® -
000 0 0™ % . j%}‘
o256 N 0’ % %{%’
J < a s AN
N Module 2 =
Q.3 | a. | Define Queue Discuss how to represent a queue using.dynamic assays. 8 | L2 | CO2
' e
b. | Writ é‘ f Function to 1mplem§ht msemon() delegon ()and display () | 6 | L3 | CO2
‘ operatlons on circular quzue L7 3”%
C. <fQ’zrlte a note on Multiplé) ‘sfa"éks and queues \ﬂth suntable diagram. 6 | L2 | CO2
«<y A
=) P, : OR f’m\ﬁ*’
Q.4 |a.| What is a lmkedﬂhsf?y Explain the different types of linked list. with neat | 6 | L2 | CO3
diagram. e
,! i N ’ &{{{g’v
b. | Write a G*ﬁmctlon for the followui*g” on singly linked list with example : 8 [L3|CO3
1) Insert zfnode of the beginning
ii) Delete a node at the {(ﬁn
i) Display.
c. | Write the C ﬁmc(:(tg:] to add two polynomials. 6 | L2 | CO3
),
4
&§y 1 of 2




Q.()

«. Writca C function for the lnllnwm;\

Module - 3 . %
n. - Discuss how binary trees are represented using @ 1) \ww m i H\Iud st

l->
"«

b, Define Threaded binary tree. Discuss In - threaded hiﬁnry ti'm

¢ Write the C function for the folowing additional Ustyperation :
) Inverting Singly linked ist i) (‘nlu‘nt@hx_@,ihu Singly Tinked list,

»

£
) OR £
a. Discuss Inorder | Preorder I'mloulmht_\ml Level order travergl “with
suttable tunction for each, y
NG9 ¢

. y :
b. Define the threaded binary u‘uu‘ C Nlucl threaded Innmv trcc for the

following clement : A, B, (,, L LT G ,&_3_{%\.‘:1
»

&

-

1) Insert a node at the, lwginnmp oldoubly linked lNl\}'
J) - Deleting a node :\t (e end of the doubly linkée[i8t,

i &
!‘. "

. 4 Module — 44,

_— N
Q.7 | [ Define Forest, TTanstorm the forest intos dklmuuy tree and (raverse using
Cinorder p|\\ﬂ|dc1 and postorder traversal With an example,
\ A i \ A 2
b ‘ De 2\“5\ Binm uch tree. (onxnumu binary scarch tree gbt the following
clefiienits 100,85, 4555 120320,70,90, 115, 05* 130,145,
c. | Discuss Selection tree \Cri%lﬂi"yun’i:xumplc. - ’f/‘") :é;
1 <N, N 4
N [ | S—— P s NN
AN OR e ~N
Q.8 " Define (nuph R \pluyl mlmwncy nmlnx(,&;g);;ﬁil aceney list wprcscnhumn
.‘ /ith an exampl L™
Ex\lnu\lmpu&,h - m’\y
b. | Define the lollowm;: ter mmol()&,y \Qnth u(umplc ' a
) l)luuph +11)  Weighted ;:,Hl[)h i) Sell loop iv) (mmu,lul graph,
| « “& «\1‘"‘”’\ "%“’1
Bru,ﬂy explmn about Iuncn{my [.,mph opuulmns "’“’X
': —— B L N—
~ ? ["’? A Module -5
Q.9 | a Explain in detail abou ,.b alic and l)ylumm llmlnn;,
AN A A
b. 1 What is C()Ihslon'?))\’lml are the Il\Llll()dh o resolve collision?
Ao
¢. | Explain l’ll()rlty <|ucuu with the Imlp ofan Lxumplu
4 - ’ ()R ) )
Q.10 | a. | Define Hashing. E xplum :.;,dllluull Imshm;, “functions with  suitable
examples. ,:,.%}u

b. | Write short note (.m v
i i) Leflist lrcw‘ ‘\Wu) Optimal binary scarch tree,

l tm}}b
L A
4
& 2012
&

~

4 ’%
&‘,

""*\‘,ﬂ

O

O

O

0

0

7(»

0

=

0

BCSI04

1.2

1.3

L1

1.2

1.2

1.2

1.2

1.3

1.2

1.2

1.2

COd
COod
COd
COd

CO4

(PR}

COS

CO5

COS5

CO5

CO5

COS5

CO5
CO5

CO5

CO5

CO5
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Object Oriented Programmmg with JAVA

Time: 3 hrs. &

BCS306A

Note: 1. Answer any FIVE full questions, choosmg SONL“ Sull question from each module,

2. M : Marks, L: Bloom ’s level , C: Course outcomes

Dec.2024/Jan.2025

Max. Marks: 100

Y {“"’r
Module =21’ A““ M| L C
Q.1 List and explain any three featuris%gﬁ Object oriented programmmg > 6 | L1 | CO1
What do you mean by type conyg;slon and type casting? Gwe examples 8 |L2|co1
| aly
’ l How to declare and lmtlahze, I“D and 2-D arrays in Java lee examples. 6 | L2 |cCoO1
‘\5’: & OR b \\5;
Q.2 List the short cnrm\ut operators and show the concispT using few examples. 4 | L2 | CO1
{7 Ve
b. | With a java ’prt}ﬁram illustrate the use ©f ternary operator to find the | 6 | L3 | CO1
greatest of‘thrée numbers. »’é»&;,\}}“
‘A"x
Devel()pxgyJava program to demonsf‘gate the working of for%\ach version of | 10 | L2 | CO1
fordoop. Initialize the 2D arra with values and print thenrusing for each.
402D y p
Ay %
___#Module -2 m‘%{, -~
Q.3 | a. | Develop a program in Java“%tg implementastack»b%ntegers { 12 | L3 | CO2
£ [} %’»«
b. | What are constructors?® Give the types andy@xplam the propertles of |8 | L2 | CO2
constructors. Supportfwith appropriate examples 'S
(g\% ® j &f{%
AL ORY,,~ ~°
Q.4 | a. | Illustrate with an example progranixt_(_")%ass objects as arguments. 10| L2 | CO2
A 2 m
b. | Explain different access spo(m es ‘in Java with examyle program. 10| L2 | CO2
A ) ~
ﬁ? Module-3 ., ¢
Q.5 |a. {Deﬁne inheritance. Llst d explain differé%‘tgtypes of inheritance in Java | 10 | L2 | CO3
&g with code smppets«\% g\;‘i’g?
b. | Compare and confrast between %verloadmg and overriding in Java with | 10 | L2 | CO3
example program for each. < ) 4
Py %‘é/ oy ﬁ%
74 » OR
Q.6 | a. | Analyze an interface in Java and list out the speed of an interface. Illustrate | 10 | L2 | CO3
with the help of a progra&kthe importance of an interface.
b. | List the different_uses of final and demonstrate each with the of code | 10 | L2 | CO3
snippets.
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Module - 4 »‘g%«
Q.7 | a. | Define a package. I\(pl.nn how o create user du(mcd Tﬁld\dbc with| 7 | L2 | CO4
example. , Y
{ s
b. | Discuss about cexception handling in Java,  Giye ‘tlﬁ&(:"luunc.mnk of the |8 | L2 | CO4
exception handling block. List the types ol"cx%pfl( »
c. DLVLIOp a Java program (o raise a custon, L"x’cjﬁmn for division by zero |5 | L3 CO4
using try, catch, throw and finally. <y
AN
Q.8 | a. | Compare throw and throws k\cWorYl by providing suit blc cxamplc 10| L2 | CO4
program. 0 L} % 4
) AN
b. | Explain about the need for fﬁﬂy block. - ,' | 15 |L2 |co4
c. | Discuss about chzunc%ce’plions. \ 5 |L2 | CO4
\ Module-§ , ¢
Q.9 | a. | Define thrcad{D&nénstralc creation of multiple threads with a program. 10 | L2 | CO5
i A_& 4 S
b. | Explain ,tl%'vo ways in which Java thredads can be instantiated. Support | 10 | L2 | COS5
your eﬁ‘g ion with a sample pr‘(g@n{
e ,‘ L
=y 4N OR Ny
Q.10 | a. | What is enumeration? Explain the methods values »aﬁq;,;/alucof( ). 10| L2 | CO5
A
b. | Explain about type wrappers’and auto boxing. ‘A%? “l10|L2 | COs
plain about typ rﬁm xgeo @
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